Subject: Re: stunting variable
Posted by Reduced-For(u)m on Tue, 27 Jan 2015 03:13:00 GMT
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| believe you are using the wrong (read: less optimal) dataset. The " 01" variables usually refer to
the birth order when you have multiple children per observation. My guess is you are using one of
the household-level recodes, where a household (or a woman interviewed) is the unit of
observation (the row in your spreadsheet). Better would be to use the Child recode which has a
child as the unit of observation. In that recode there should only be 1 value of HC70 - the one for
that particular child.

That help?
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